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WEST BENGAL STATE UNIVERSITY 

B.Sc. Honours/Programme 4th Semester Examination, 2022 

CEMHGEC04T/CEMGCOR04T-CHEMISTRY (GE4/DSC4) 

Time Allotted: 2 Hours Full Marks: 40 

The figures in the margin indicate full marks. 
Candidates should answer in their own words and adhere to the word limit as practicable. 

All symbols are of usual significance. 

 SECTION-A / িবভাগ-ক 

Answer four questions taking one from each unit 
pেতয্ক ইউিনট েথেক একিট  কের িনেয় েমাট চারিট  pেűর উtর দাও 

 Unit-I / একক-১ 

1.  (a) What are ideal solutions? What are the conditions for solutions to be ideal? 
আদশর্ dবণ কী ? আদশর্ dবণ হওয়ার শতর্gিল কী ? 

3

(b) In the distribution of phenol between water and chloroform, the concentrations of 
phenol are 

In water (C1): 0.094 0.163 0.254
In chloroform (C2): 0.254 0.761 1.85 

Show that it exists as dimer in chloroform. 
েফনল যখন জল এবং েkােরাফেমর্ dবীɛত হয়, তখন েফনেলর ঘনt 

জেল (C1): 0.094 0.163 0.254

েkােরাফেমর্ (C2): 0.254 0.761 1.85 

েদখাও েয েফনল েkােরাফেমর্ ডাইমার হেয় থােক। 

2

  
2.  (a) Write the Nernst Distribution Law with its mathematical representation. 

গািণিতক rপসহ Nernst-এর বĊন সূtিট েলেখা। 
2+1

(b) Write the principle of steam distillation.
বাźপাতেনর নীিতিট েলেখা। 

2

  

 Unit-II / একক-২ 

3.  (a) Draw a labelled phase diagram of CO2 system and describe it.
CO2-এর দশািচt অìন কেরা। িচtিটেক যথাথর্ভােব িচিhত কেরা এবং বণর্না কেরা। 

3

(b) Explain that for one component system, triple point is an invariant point. 
এক অবয়ব সংখয্ািবিশŶ িসেsেম �tধ িবn ু অপিরবতর্নীয় — বয্াখয্া কেরা। 

2
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4.  (a) Calculate  

(i)  Number of phases  
(ii)  Number of components  
(iii)  Degrees of freedom for the following system in equilibrium 
 Cl(s)NH4 ⇌ HCl(g)(g)NH3  

Cl(s)NH4 ⇌ HCl(g)(g)NH3 উিlিখত সমীকরণিটেক িবেųষণ কের িনmিলিখত তথয্gিল দাওঃ 

(i)  দশা সংখয্া 
(ii)  অবয়ব সংখয্া 
(iii)  sাতnt মাtা 

3

(b) Azeotrope is not a compound. Explain.
বয্াখয্া কেরাঃ অয্ািজওে¹াপ একিট েযৗগ নয়। 

2

  

 Unit-III / একক-৩ 

5.  (a) The resistance of a conductivity cell filled with 0.02 (N) KCl is 17.06 ohm. The 
specific conductance of a solution is 0.0024 ohm–1cm–1. Determine the cell 
constant of the conductivity cell. 
0.02 (N) KCl dবণ পূণর্ একিট পিরবাহী েকােষর েরাধ 17.06 ওম ্  ও dবেণর আেপিkক পিরবািহতা 
হল 0.0024 ohm–1cm–1। তাহেল ঐ পিরবাহী েকােষর েকাষ rবক িনণর্য় কেরা। 

3

(b) Define specific conductance of a solution of an electrolyte. What is the unit of 
specific conductance? 
তিড়ৎিবেųষয্ পদােথর্র dবেণর আেপিkক পিরবািহতার সংjা দাও। আেপিkক পিরবািহতার একক কী ? 

1+1

  

6.  (a) Draw the conductometric titration plot for CH3COOH vs NaOH and explain it’s 
nature. 
CH3COOH বনাম NaOH-এর পিরবািহতা অনুমাপন পdিতেত pশমন pিkয়ার েরখািচt অìন কেরা 
এবং তার pkিত বয্াখয্া কেরা। 

3

(b) Compare equivalent conductance for 0.1(M) KCl and 0.01(M) KCl solution with 
reason. 
0.1(M) KCl এবং 0.01(M) KCl-এর tলয্াì পিরবািহতার মােনর যুিkসñত tলনা কেরা। 

2

  

 Unit-IV / একক-৪ 

7.  (a) What is EMF of a cell? How is it expressed with respect to the reduction potential 
of the electrodes? 

েকােষর তিড়ৎচালক বল EMF কী ? তিড়ৎdােরর িবজারণ িবভব dারা এিট িকভােব pকাশ করা হয় ? 

1+1

(b) How can pH of a solution be determined using standard hydrogen electrode? 

pমাণ হাইে»ােজন তিড়ৎdার বয্বহার কের একিট dবেণর pH িনণর্য় পdিত েলেখা। 

3
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8.  (a) An electrochemical cell is given by
একিট তিড়ৎেকােষর গঠন 
 Zn(s)|Zn2+(aq)| |Cu2+(aq)|Cu(s) 
 V0.763E Zn|Zn

0 2 and V0.337E Cu|Cu
0 2  

(i)  Write the cell reaction 
 েকাষ িবিkয়া েলেখা 
(ii)  Calculate the e.m.f. of the cell 
 েকাষিটর e.m.f. গণনা কেরা। 
(iii)  Calculate ΔG of the system. 
 িবিkয়ািটর ΔG  গণনা কেরা। 

3

(b) What are the functions of a salt bridge?
লবণ েসtর কাজ কী ? 

2

  

 SECTION-B / িবভাগ-খ 

Answer two questions taking one from each unit 

pেতয্ক ইউিনট েথেক একিট  কের িনেয় েমাট dিট  pেűর উtর দাও 

 Unit-I / একক-১ 

9.  (a) What is an acid-base neutralisation indicator? Which indicator can be used for the 
titration of a strong acid and weak base? 
অm-kার pশমন িনেদর্শক কী ? তীb অm ও মdৃ kােরর টাইে¹শেন েকান  িনেদর্শক বয্বহার করা যায় ? 

2

(b) Mention the principle and reactions for gravimetric estimation of Cl . 
েতৗিলক িবেųষেণর মাধয্েম dবেণ উপিsত Cl  আয়েনর পিরমাণ িকভােব িনণর্য় করেব তা নীিত ও 
িবিkয়াসহ উেlখ কেরা। 

3

(c) What is solubility product? 
dাবয্তা gণফল কী ? 

2

(d) What is the principle of separation of components in a mixture by 
chromatographic method? 
েkামােটাgািফ পdিতর সাহােযয্ িমËণ েথেক উপাদান পদােথর্র পৃথকীকরণ নীিত েলেখা। 

3

  

10.(a) How the amount of 32CONa  and 3NaHCO  can be determined in a mixture? 

একিট িমËেণ 32CONa  ও 3NaHCO -এর পিরমাণ িকভােব িনণর্য় করা যায় ? 

4

(b) Write the principle and reactions of estimation of 3Cr using redox titration. 
জারণ-িবজারণ টাইে¹শেনর মাধয্েম েকােনা dবেণ উপিsত 3Cr -এর পিরমাণ িকভােব িনণর্য় করেব তার 
নীিত ও িবিkয়া েলেখা। 

2+2

(c) In gravimetric analysis, 2Ni is precipitated using which reagent? Give its structure. 
েতৗিলক িবেųষণ পdিতেত 2Ni -এর অধেkেপর জনয্ েকান িবকারক বয্বহার করা হয় ? এর গঠন 
েলেখা। 

2
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 Unit-II / একক-২ 

11.(a) What are the different layers of atmosphere?
বায়ুমčেলর িবিভn sরgিল কী কী ? 

2

(b) Write notes on: (any two) 
 টীকা েলেখাঃ(েয-েকােনা dিট)  
(i)  Minamata Episode 
 িমনামাটা ঘটনা 
(ii)  Cyclone collector 
 সাইেkান কােলkর 
(iii)  Hardness of water. 
 জেলর খরতা। 

2×2 = 4

(c) Discuss briefly the different types of solid wastes.
কিঠন বেজর্য্র pকারেভদ সংেkেপ আেলাচনা কেরা। 

4

  
12.(a) What are the effects of water pollution?

জল দূষেণর pভাবgিল েলেখা। 
2

(b) Differentiate between biodegradable and non-biodegradable wastes.
�জব িবেয়াজনkম ও �জব অিবেয়াজনkম বেজর্য্র মেধয্ পাথর্কয্ েলেখা। 

2

(c) What are the control measures of soil pollution?
মািট দূষণ িকভােব েরাধ করা যায় ? 

3

(d) What are the Green house gases? Name two of them.
gীন হাউস গয্াস কােক বলা হয় ? dিট gীন হাউস গয্ােসর নাম েলেখা। 

2+1

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 

their own respective colleges on the same day / date of examination within 1 hour after end 
of exam. University / College authorities will not be held responsible for wrong submission 
(at in proper address). Students are strongly advised not to submit multiple copies of the 
same answer script. 

 
——×—— 
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WEST BENGAL STATE UNIVERSITY 

B.Sc. Honours/Programme 4th Semester Examination, 2021 

CEMHGEC04T/CEMGCOR04T-CHEMISTRY (GE4/DSC4) 

Time Allotted: 2 Hours Full Marks: 40 

The figures in the margin indicate full marks. 
Candidates should answer in their own words and adhere to the word limit as practicable. 

All symbols are of usual significance. 

 SECTION-A 

Answer four questions taking one from each unit 

pেতয্ক ইউিনট েথেক একিট  কের িনেয় েমাট চারিট  pেűর উtর দাও 

 Unit-I 

1.  (a) State and explain the Raoult’s law of elevation of boiling point of a solution with a 
diagram. Write its mathematical form. 

িচেtর সাহােয° রাউলেটর sটনােìর উnয়ন সূtিট ব°াখ°া কেরা। এর গািণিতক rপিট েলেখা। 

3

(b) The vapour pressure of acetone at 20° C is 185 mm of mercury. Vapour pressure 
of a solution containing 1.2 g of a nonvolatile solute per 100 g of acetone is 
182.5 mm of mercury at 20° C. What is the molecular weight of the solute? 

20° C উŹতায় অ°ািসেটােনর বাźচাপ 185 mm (পারদ)। 100 gাম অ°ািসেটােন 1.2 gাম একিট 
অনুdায়ী পদাথর্ dবীɛত করায় 20° C উŹতায় dবেণর বাźচাপ হল 182.5 mm (পারদ)। পদাথর্িটর 
আণিবক ভর কত হেব ? 

2

  
2.  (a) What is critical solution temperature? Explain with an example. 

সংকট dবণ উŹতা কােক বেল ? একিট উদাহরণসহ েবাঝাও। 

2

(b) When a partially miscible liquid pair forms two conjugate layers at a definite 
temperature, then does addition of one liquid to it at the same temperature change 
the compositions of the layers? Give explanation. 

একিট িনিদর্Ŷ তাপমাtায় যিদ একিট আংিশক িমিËত তরল েজাড়া dিট সংহত sর �তরী কের, তাহেল ঐ 
তাপমাtায় একিট তরল েযাগ করেল ঐ sেরর গঠন িক পিরবতর্ন হেব ? ব°াখ°া দাও। 

2

(c) Give one application of Nernst Distribution Law. 

নানর্েsর বĊন সূtিটর একিট pেয়াগ েলেখা। 

1

  

 Unit-II 
3.  (a) Draw the labeled phase diagram of sulphur system and describe it. 

িবিভn অংেশর নামসহ সালফােরর দশািচt অìন কেরা এবং বণর্না কেরা। 

3



CBCS/B.Sc./Hons./Programme/4th Sem./CEMHGEC04T/CEMGCOR04T/2021 

4206 2

(b) Explain why melting point of ice decreases with rise in pressure. 

চাপ বৃিdেত বরেফর গলনাì hাস পায় েকন ব°াখ°া কেরা। 

2

  

4.  (a) What is eutectic point? Draw the phase diagram of a simple eutectic system and 
identify the different regions. 

ইউেটকিটক িবn ু িক ? একিট সাধারণ ইউেটকিটক িসেsেমর দশািচt অìন কের িবিভn অĀল িচিhত 
কেরা। 

1+2

(b) What is triple point? Calculate the degrees of freedom at the triple point in the 
phase diagram of water. 

�tধ িবn ু িক ? জেলর দশািচেtর �tধ িবn ুেত sাতnt° মাtা িনণর্য় কেরা। 

2

  

 Unit-III 

5.  (a) Discuss how does the equivalent conductance of a solution vary with dilution for 

(i)  Strong electrolyte 
(ii)  Weak electrolyte 

েকান  dবেণর tল°াì পিরবািহতা তার লঘুতার সােথ িকভােব পিরবিতর্ত হয় ? আেলাচনা কেরা। 
(i)  তীb তিড়ৎিবেųষ° পদােথর্র জন° 
(ii)  মৃd তিড়ৎিবেųষ° পদােথর্র জন° 

3

(b) At 25° C the conductance of 1N KCl solution was found to be 3.25 mmho by a 
certain conductivity cell. If specific conductance of 1N KCl is 0.01286 mho cm-1, 
find the cell constant. Find also the equivalent conductance of 1N KCl. 

25° C উŹতায় একিট পিরবািহতা েকােষ 1N KCl dবণ িনেয় 3.25 mmho পিরবািহতা পাওয়া েগল। 
যিদ 1N KCl dবেণর আেপিkক পিরবািহতা 0.01286 mho cm-1 হয় তাহেল েকাষ rবক িনণর্য় 
কেরা। dবণিটর tল°াì পিরবািহতাও িনণর্য় কেরা। 

2

  
6.  (a) At 25° C and in infinite dilution the value of equivalent conductance of 

CH3COOH, HCl and NaCl are 78.0, 384.0 and 109 ohm-1cm2 respectively. 
Calculate the equivalent conductance of CH3COOH at infinite dilution at that 
temperature. 

25° C তাপমাtায় CH3COOH, HCl এবং NaCl-এর অসীম লঘুতায় tল°াì পিরবািহতার মান 
যথাkেম 78.0, 384.0 এবং 109 ohm-1cm2 হেল অ°ােসিটক অ°ািসেডর জন° অসীম লঘুতায় tল°াì 
পিরবািহতার মান কত ? 

3

(b) State the Kohlrausch law. 

েকাহলরােশর সূtিট বণর্না কেরা। 

2

  

 Unit-IV 

7.  (a) What are reversible and irreversible cell? Give example. 

একমুখী ও উভয়মুখী েকাষ িক ? উদাহরণ দাও। 

3
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(b) Derive the Nernst equation of the following reaction taking place in voltaic cell 
 dDcCbBaA  

েভাlীয় েকােষ সংঘিটত িনmিলিখত িবিkয়ার জন° Nernst-এর সমীকরণিট উপপাদন কেরা। 
 dDcCbBaA  

2

  
8.  (a) Standard reduction potential of Cu|Cu  and Ag|Ag  electrodes are 0.337 and 

0.799 volt respectively. Construct a cell with the electrodes and find its standard 
e.m.f. 

Cu|Cu  এবং Ag|Ag  তিড়ৎdার dিটর pমাণ িবজারণ িবভব যথাkেম 0.337 এবং 
0.799 েভাl। তিড়ৎdার dিটর সাহােয° একিট েকাষ গঠন কেরা ও েকাষিটর pমাণ e.m.f  িনণর্য় কেরা। 

3

(b) What do you understand by electrochemical series? Why does AgNO3 solution 
turn blue when a Cu wire is dipped in it? 

তিড়ৎ রাসায়িনক েËিণ িক ? AgNO3 dবেণ একিট তামার তারেক িনমিjত করেল dবেণর বণর্ নীল হয় 
েকন ? 

1+1

  

 SECTION-B 
Answer two questions taking one from each unit 

pেতয্ক ইউিনট েথেক একিট  কের িনেয় েমাট dিট  pেűর উtর দাও 

 Unit-I 
9.  (a) Mention the principle and reactions for gravimetric estimation of Zn2+. 

েতৗিলক িবেųষেণর মাধ°েম dবেণ উপিsত Zn2+ আয়েনর পিরমাণ িকভােব িনণর্য় করেব তার নীিত ও 
িবিkয়া উেlখ কেরা। 

3

(b) What is a redox indicator? Which redox indicator can be used for the estimation of 
Fe2+  by K2Cr2O7? Draw its oxidized and reduced forms mentioning the colours. 

জারণ-িবজারণ িনেদর্শক িক ? আয়তনমািtক পdিতেত K2Cr2O7 dারা Fe2+-এর পিরমাণ িনণর্য় করেত 
েকান ্  জারণ-িবজারণ িনেদর্শক ব°বহার করা যায় ? এর জািরত ও িবজািরত rপ িচtািয়ত কেরা ও িবিভn 
rেপর বণর্gিল েলেখা। 

3

(c) Define fR  value. Why thin layer chromatography is superior to paper 
chromatography? 

fR -এর সংjা েলেখা। সr sেরর েkামােটাgািফর tলনায় কাগজ েkামােটাgািফ সুিবধাজনক েকন ? 

2+2

  

10.(a) Define co-precipitation and post precipitation in the context of gravimetric 
analysis. Give relevant examples. 

েকা-অধেkপ ও েপাs অধেkপ িক ? উদাহরণ দাও। 

2+1

(b) Which primary standard solution is used for the standardization of EDTA? Which 
indicator is used for this titration? 

EDTA dবেণর মাtা িনণর্য় করার জন° েকান  ্ মুখ° pমাণ dবণ ব°বহার করা হয় ? এই পdিতেত েকান  ্ 
িনেদর্শক ব°বহার করা হয় ? 

1+1
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(c) Mention the desired properties of a primary standard in volumetric analysis. Why 
is KMnO4 not used as primary standard? 

অনুমাপন পdিতেত ব°বhত মুখ° pমাণ পদােথর্র ধমর্gিল েলেখা। KMnO4 েকন মুখ° pমাণ পদাথর্ 
িহসােব ব°বhত হয় না ? 

2+1

(d) What is common ion effect? 

Common ion pভাব বলেত িক েবােঝা ? 

2

  

 Unit-II 

11.(a) How does ozone layer depletion occur? Discuss the harmful effects of it. 

ওেজানsেরর kয় িকভােব হয় ? এর kিতকারক িদকgিল েলেখা। 

2+2

(b) What is photochemical smog? 

আেলাক রাসায়িনক েsাগ িক ?  

2

(c) What are the causes of soil pollution? 

মািট দূষেণর কারণgিল েলেখা। 

2

(d) What do you mean by BOD? 

িব ও িড িক ? 

2

  
12.(a) Discuss how water resources get polluted due to industrial effluents and 

agricultural runoff. 

িশl ও kিষজ বজর্° dারা জল িকভােব দূিষত হয় ? 

2+2

(b) Why hard water cannot form ‘foam’ with soaps easily?  

kরজল সাবােন সহেজ েফনা উৎপn কের না েকন ? 

2

(c) What is acid rain? 

অmবৃিŶ িক ? 

2
 

(d) Write a note on Bhopal Gas Tragedy. 

টীকা েলেখা েভাপাল গ°াস িবপযর্য়। 

2

  

 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 
their own respective colleges on the same day / date of examination within 1 hour after end 
of exam. University / College authorities will not be held responsible for wrong submission 
(at in proper address). Students are strongly advised not to submit multiple copies of the 
same answer script. 

 
——×—— 
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WEST BENGAL STATE UNIVERSITY 

B.Sc. Honours/Programme 4th Semester Examination, 2020 

CEMHGEC04T/CEMGCOR04T-CHEMISTRY (GE4/DSC4) 

Time Allotted: 2 Hours Full Marks: 40 

The figures in the margin indicate full marks. 
Candidates should answer in their own words and adhere to the word limit as practicable. 

All symbols are of usual significance. 

 SECTION-A 

Answer four questions taking one from each unit 

pেতয্ক ইউিনট েথেক একিট  কের িনেয় েমাট চারিট  pেűর উtর দাও 

 Unit-I 

1.  (a) Define van’t Hoff factor (i). 

ভয্াn হফ ফয্াkেরর সংjা দাও। 

1

(b) How is it related with degree of association or dissociation (any one)? 

ভয্াn হফ gণেকর সেñ সংেযাজন বা িবেয়াজন মাtা িকভােব সmিক�ত ? 

2

(c) What is azeotropic mixture? Give one example. 

িsর sটনাংেকর অেজও¹িপক িমËণ, একটা উদাহরণসহ সংjা দাও। 

2

  

2.  (a) State and formulate Raoult’s law of relative lowering of vapour pressure of a 
solution. 

dবেণর বাźচােপর আেপিkক অবনমন সংkাn রাউেlর সূtিট �লেখা ও সমীকরণ আকাের pকাশ 
কেরা। 

1+2

(b) Mention the Nernst Distribution Law with the mathematical representation. 

গািণিতকrপ সহ নান�sর বnন সূtিট �লেখা। 

2

  

 Unit-II 

3.  (a) State the phase rule explaining the terms involved. 

pিতিট pতীেকর grt বয্াখয্া কের দশাসূtিট িববৃত কেরা। 

2

(b) What is triple point? 

�tধ িবnু িক ? 

1
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(c) Calculate the number of components and degrees of freedom for the reaction 

 NH4Cl(s) ⇋ NH3 (g) + HCl(g) in a closed vessel 

একিট আবd পােt িনmিলিখত রাসায়িনক িবিkয়ার অবয়ব সংখয্া ও sাতntমাtা িনণ�য় কেরা 
 NH4Cl(s) ⇋ NH3 (g) + HCl(g) 

2

  

4.  (a) Draw the labeled phase diagram of water system and describe it. 

িবিভn অংেশর নাম সহ জেলর দশা-িচt অìন কেরা এবং বণ�না কেরা। 

3

(b) For the above system obtain the Degrees of freedom along the line and in the 
space between the lines? 

H2O িসেsেমর �kেt �রখার ওপর এবং �রখা মধয্বত�ী অĀেলর sাতntয্মাtা িনণ�য় কেরা। 

2

  

 Unit-III 

5.  (a) Define specific conductance and equivalent conductance and mention the units. 

�কােনা dবেণর আেপিkক পিরবািহতা ও tলয্াì পিরবািহতার সংjা দাও। এেদর একক িক ? 

2+1

(b) At 25ºC the equivalent conductance of HCl, CH3COONa and NaCl at infinite 
dilution are 426.16, 91.00 and 125.45 ohm–1cm2 respectively. Find out the 
equivalent conductance of acetic acid at infinite dilution. 

25º উŹতায় HCl, CH3COONa এবং NaCl –এর অসীম লঘুতায় tলয্াì পিরবািহতার মান 
যথাkেম 426.16, 91.00 এবং 125.45 ohm–1cm2 হেল অয্ােসিটক অয্ািসেডর জনয্ অসীম লঘুতায় 
tলয্াì পিরবািহতার মান কত ? 

2

  
6.  (a) What are transport number and ionic mobility? 

পিরবহনাì ও আয়নীয় সচলতা কােক বেল ? 

2

(b) Draw and explain Conductometric titration curve of strong acid and strong base. 

যুিk সহকাের একিট তীb অm ও একিট তীb kােরর pশমেনর পিরবািহতা �লখিচt অìন কেরা। 

1+2

  

 Unit-IV 

7. The standard reduction potentials Fe3+, Fe2+ and Sn4+, Sn2+ at 25ºC are 0.77V and 
0.15V. 

E0 Fe3+, Fe2+; Sn4+, Sn2+- 25ºC  যুg dেয়র pমাণ িবভব যথাkেম 0.77V এবং 0.15V 

 (i) Set up the cell 

 তািড়ত রাসায়িনক �কাষ �লেখা 
1

 (ii) Write down the cell reaction 

 জারণ ও িবজারণ সমীকরণ �লেখা 
2

 (iii) Calculate the equilibrium constant of the reaction. 

 জারণ ও িবজারণ িবিkয়ার সাময্ rবক গণনা কেরা। 

2
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8.  (a) What do you mean by pH of a solution? 

dবেণর pH বলেত িক �বােঝা ? 

1

(b) What is the standard hydrogen electrode and what is its potential? 

pমাণ হাই»েজন তিড়ৎdার িক এবং এিটর িবভব কত ? 

2

(c) What do we mean by potentiometric titration and give one advantage of it? 

িবভাবিমিতক অনুমাপন বলেত িক �বােঝা এবং এর সুিবধা িক ? 

2

  

 SECTION-B 
Answer two questions taking one from each unit 

pেতয্ক ইউিনট েথেক একিট  কের িনেয় েমাট dিট  pেűর উtর দাও 

 Unit-I 

9.  (a) Mention the principle, reaction and calculation for the method of gravimetric 
estimation of sulphate. 

gািভেমি¹ক পdিতেত সালেফট িনণ�েয়র নীিত, িবিkয়া ও গণনা উেlখ কেরা। 

3

(b) Write down the structural formula of EDTA. What are the advantages of using 
EDTA in complexometric titration? 

EDTA এর গঠন সংেkেপ �লেখা। জিটলিমিতক অনুমাপন EDTA বয্বহােরর সুিবধাgিল িক িক ? 

3

(c) Why is not KMnO4 used as a primary standard substance? What primary standard 
solution is required for its standardization? 

KMnO4 �ক মুখয্ pমাণ dবয্ rেপ বয্বহার করা হয় না �কন ? িক মুখয্ pমাণ পদাথ� KMnO4 অনুমাপন 
করেত বয্বহার করা হয় ? 

1+1

(d) What is metal ion indicator? Give example. 

ধাতব আয়ন সূচক িক ? উদাহরণ দাও। 

2

  

10.(a) Describe the principle and reactions involved during complexometric estimation of 
Zinc. 

জিটলিমিতক পdিতেত িজেìর পিরমাণ িনণ�েয়র িবিkয়াসহ নীিতিট সংেkেপ আেলাচনা কেরা। 

2

(b) What is the role of H3PO4 in the estimation of Fe2+ ion by K2Cr2O7? 

K2Cr2O7 dারা Fe2+ আয়ন পিরমাপেন H3PO4 এর ɛিমকা িক ? 

2

(c) What do you mean by primary and secondary standard substances in titrimetric 
analyses? With two examples for each. 

অনুমাপন পdিতেত বয্বhত মুখয্ �গৗণ pমাণ পদাথ� বলেত িক �বােঝা ? dিট কের উদাহরণ দাও। 

1+1+2

(d) What do you mean by the term “solubility product”? 

dাবয্তা gণফল বলেত িক �বােঝা ? 

2
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 Unit-II 

11.(a) Discuss the mechanism of action of soap or detergent regarding cleaning dirt. 

সাবান ও িডটারেজn িকভােব ময়লা পিরŴার কের ? 

3

(b) Write notes on: (any two) 

টীকা �লেখাঃ (�য-�কােনা dিট ) 
2×2

 (i) Green house effect 

 gীনহাউস pভাব 

 (ii) Acid rain 

 অেmাবৃিŶ 

 (iii) Ozone hole 

 ওেজানিছd 

 (iv) Photochemical smog. 

 আেলাকরাসয়ািনক �ধায়াসা। 

(c) What is hydrosphere? 

হাইে»ােsয়ার িক ? 

1

(d) What are the natural sources of water? 

জেলর pাkিতক উৎস িক ? 

2

  

12.(a) Write the effect of air pollutant, NOx and SO2 on environment. 

পিরেবেশর উপর বায়ুদূষক NOx ও SO2 pভাব �লেখা। 

4

(b) Write a method for waste water treatment. 

বজ�য্ জল pিkয়াকরেণর একিট পdিত আেলাচনা কেরা। 

4

(c) Mention the sources of soil Pollution.

মািট দূষেণর উৎসসমূহ উেlখ কেরা। 

2

  

 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to 
their own respective colleges on the same day / date of examination within 1 hour after end 
of exam. University / College authorities will not be held responsible for wrong submission 
(at in proper address). Students are strongly advised not to submit multiple copies of the 
same answer script. 

 
——×—— 

 


